
Knape & Vogt insists on the

Call Knape & Vogt at:
1-800-253-1561



MISSING A PART?
 

There is no need to return 
this item to the store. 

Instead call our TOLL FREE 
HOTLINE. 

1.800.253.1561 

We appreciate your purchase of the HyLoft storage system. Knape & Vogt has made
every e�ort to supply a quality product that insures a lifetime of trouble-free service.

In the event that you have any type of problems and BEFORE RETURNING THE UNIT TO
THE SELLER, please call our toll free number 1.800.253.1561. 

HyLoft 48" x 48" Super Pro Limited Warranty
 warrants this product against defects in material or workmanship for the life of the product.  
 agrees to either repair the product or replace it at the sole discretion of Knape & Vogt. 

This warranty does not include any costs associated with the physical installation, removal or return 
of the HyLoft storage system.

This warranty is valid and enforceable provided that the maximum weight supported by each 48" x 48"   
HyLoft unit does not exceed 300 pounds, evenly distributed. The customer, dealer, and/or installer releases 
  of all claims, which includes the HyLoft unit and the structure it is attached to, if the 

 loaded weight exceeds 300 pounds. The unit must also be installed according to the manufacturer's 
instructions. At no time should you install more than one HyLoft unit on any two ceiling beams (rafters,  
studs, roof trusses, framing members, etc.). All fasteners must be checked and tightened at least annually. 

Only the original purchaser of this product is extended this warranty. No warranty work will be provided under 
this warranty without purchaser's receipt or other proof of the date of original purchase acceptable to 

. Proof of the date of purchase must be provided to  if 
the product is returned.

This  limited warranty covers product failure due to defects in materials or workmanship ONLY!
It does not cover corrosion, rust or discoloration of its components, or product failure due to misuse, abuse,  
faulty installation, alteration, lack of reasonable care, or any other failure not related to defects in materials 
or workmanship.

There are NO other warranties expressed or implied except those stated here in as required by applicable law. 

 SHALL NOT BE LIABLE FOR INCIDENTAL, SPECIAL OR CONSEQUENTIAL DAMAGES RESULTING 
FROM THE USE OF THE PRODUCT OR ARISING OUT OF ANY BREACH OF THIS WARRANTY. ALL IMPLIED 
WARRANTIES, IF ANY, INCLUDING IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A  
PARTICULAR PURPOSE, ARE LIMITED IN DURATION TO THE DURATION OF THIS WARRANTY.  
Some states do not allow the exclusion or limitation of incidental or consequential damages, or limitations 
on how long an implied warranty lasts, so the above exclusions or limitations may not apply to you. 
No other warranty, written or verbal, will be honored for this product. This warranty gives you speci�c 
legal rights and you may also have other rights that vary from state to state. 

 is not responsible for damages of merchandise in transit. Repaired or replaced products shall 
be subject to the terms of this warranty, to be inspected by Knape & Vogt prior to return shipment. Damages
incurred during transit should be reported at once to the carrier and a claim should be �led with them.

For more information and frequently asked questions, visit our web site:  
www.Hyloft.com

Knape & Vogt
Knape & Vogt

Knape & Vogt

Knape & Vogt Knape & Vogt

Knape & Vogt

KNAPE & VOGT

Knape & Vogt

Knape & Vogt®
Grand Rapids, MI 49505 USA

, accessories 

Page 1 of 12



Safety:

Read and understand the warning on your stepladder and make sure the ladder is in good working 
order.

Examine all tools needed to insure they are in proper working order before starting.

Power tools that are not internally grounded require power cords and extension cords with a ground 
prong.

Always wear eye protection when drilling or installing parts.
 components are made of metal so beware of any sharp edges and do not let any components 

make contact with electrical current during installation.

DO NOT install more than one unit on any two framing members.

Preparation:

The  unit can be installed in any area of garage, provided there is adequate space. When 
possible install so that all four sides are accessible for convenient loading.

Take care not to block attic or crawl space access, or lights.

If ceiling height allows for it, the unit may also be installed above the open garage door. If installing 
above an open door, measure between the highest point of the opening garage door and the ceiling to 
determine if there is adequate room for the unit. You will need at least 25 inches of open space 
between the ceiling and the highest point of the door during operation.

Clear the area where the  unit is to be installed, and don’t leave autos parked under the unit 
during installation.

Locate any gas, electrical, and plumbing lines in the garage before drilling holes in the drywall.

NOTE: We refer to Joists throughout the instructions. Joists are also called Ceiling Studs or Framing 
Members.

HyLoft

HyLoft 

HyLoft

HyLoft

Knape & Vogt®
Grand Rapids, MI 49505 USA

1.800.253.1561  

, accessories For more information and frequently asked questions, visit our web site:  
www.Hyloft.com

Preparation and Safety Information 

IMPORTANT-READ THROUGH ENTIRE INSTRUCTIONS BEFORE BEGINNING INSTALLATION

Page 2 of 12



ASSEMBLY INSTRUCTIONS 

Parts Included:

24" x 48"
2-Wire Grids 4-Downrods-Straight4-Angle Brackets

Framing
Square

(optional)

Pencil3/16"
Drill Bit
(4.8mm)

Power
Drill Ladder or  

Step StoolTape Measure

Eye Protection

 7/16" & 1/2"
Wrench

(11 mm & 13 mm) 
Stud/Joist

Finder
(optional)

7/16"(11 mm) &
1/2"(13 mm)

Socket Wrench
or Nut Driver

Tools Required:

IMPORTANT-Read through entire instructions before beginning any installation.

OR

36-Hex Bolts 5/16" X ½"
(8mm x 13mm)

40-Hex Locking Nuts  5/16"(8mm)

M

2-Left Facing Downrods with Feet

2-Right Facing Downrods with Feet

2-48" Support Frames (2 holes)

2-48" Support Frames (6 holes)

8-Lag Screws  X 2 ½" (8mm x 64mm)5/16"

4-Clamps 4-Hex Bolts 5/16" x 2" (8mm x 50mm)

4-Hex Bolts ¼" x ½" (6mm x 13mm) 4-Hex Nuts Serrated
 ¼" (6mm )

M

SuperPro 48" X 48"
 Ceiling Mounted Shelf

Item # 00180 white
Item # 00183 hammertone Joists

24" to 42"
apart

Page 3 of 12



Locate the ceiling joists in the area of desired installation and determine the direction in which they are 
running. The ceiling Angle Brackets(B) are installed parallel to the ceiling joists. Refer to the diagram 
below for additional installation clarification.

INSTALL CEILING ANGLES

ATTACH DOWNRODS

Use Center Holes in Angle Brackets(B) as a template to 
mark holes on stud. Use joists 24"-42" apart. 
There must be exactly 50" center to center, measuring 
between center holes in Brackets(B) along the same joist
TIP-It may be easier to measure from the outside of first 
bracket(B) to the inside of the next bracket (also 50").

IMPORTANT-Brackets must be mounted perfectly in 
line and square to each other. 

Pre-drill 3/16" holes for each screw. Rub some bar soap or add 
a drop of liquid soap to the threads of the lag screws to ease 
installation. U

Angle Bracket(B)
se a Socket Wrench or Nut Driver to install two of 

the 5/16" x 2 1/2" Lag Screws(H) into each . 
Do not over tighten.

Determine hanging height and overlap & attach 2 Left Facing 
Downrods(D) & 2 Right Facing Downrods(E) to each Straight 
Downrod(C) using 4 Hex Bolts(I) and Hex Nuts(J). Tighten with 1/2" 
Socket Wrench or Nut Driver. 

Attach 4 straight Down Rods(C) to each Angle Bracket(B) using 2 Hex 
Bolts(I) and Hex Nuts(J). Tighten with 1/2" Socket Wrench or Nut Driver. 
Make sure one side of each Down Rod(C) is facing the inside where the 
grids will be and that the Feet on Left and Right Facing Downrods(D & 
E) are to the inside.

See last page
 for alternate

mounting situations.

IMPORTANT-READ THROUGH ENTIRE INSTRUCTIONS BEFORE BEGINNING INSTALLATION

 Using Stud/Joist finder
 locate Joists

24" to 42"
apartCeiling Joist

1B

1A

 Locate
any 2 Joists
24" to 42"

apart

1B

IMPORTANT:Do not over tighten the lag screws (max 10 ft. lbs).  They only need to be
snug down, no more. Do not use an impact driver.

Center holes in Angle
Brackets must be
exactly 50" apart,
center to center

Page 4 of 12



M
M

Loosen & tilt the 48" support
frames to allow grids
to lay on directly on ledge.

PLACE AND ATTACH GRIDS

ATTACH SUPPORT FRAMES

Place two 48" Support Frames(F) on top of feet and using Clamps(K) 
with thick part up, fasten to downrod using Hex Bolts(L) and Nuts(J). 
Make sure ends of Support Frames(F) are even and square. Place 48" 
Support Frames(G) on top of 48" Support Frames (F) and loosely bolt 
together in each corner using ¼" Hex Bolts(M) and Nuts(N) using a 
7/16" wrench or nut driver. Do not tighten until after placing grids.

Lay 4 Wire Grids(A) evenly on 48" Support Frames(G) with grid stiffeners on the underside. Loosen & tilt the 48" 
Support Frames(G) if necessary. Tighten bolts in each corner of support frames using ¼" Hex Bolts(M) and 
Nuts(N) wth a 7/16" wrench or nut driver. Fasten Wire Grids(A) as shown using 4 Hex Bolts(I) and Hex Nuts(J) for 
each grid. 

Make sure that all nuts, bolts and screws are tight. Do not load with more than 300 lbs, evenly distributed.

Page 5 of 12



D

ALTERNATE INSTALLATIONS

If joists change direction, 2 or all 4 Downrods (C&E) can be installed on the other 48" side. Rotate direction 
of  Angle Brackets (B) and Downrods (C&E) & install as shown in steps 1-3 of original instructions. 

Multi-Directional Joists:

Peaked or Cathedral Ceilings:

Example Shown of
Multi-Directional Joists
If all Joists run parallel,
2 downrods can also be

 installed on the other 48" side
by rotating direction of Angle

Brackets(B) as shown on
original instructions, but installing

downrods as shown here.

 

Adjust lower downrods at variable heights
if needed so that Support Frames(F&G)
will be level when installed. Continue with Steps 3 & 4.

Attach straight Down Rods(C)
to each Angle Bracket(B)
using 2 Hex Bolts(I) and
Hex Nuts(J). Tighten with ½"
Socket Wrench or Nut Driver.

Angled Joists

Clamp(K)

After installing Angle Bracket(B) to joists (step 1), 
attach Downrod(C) to Angle Bracket(B).   
Depending on your ceiling angle, you may need to 
cut the corner from Downrod(C) to allow it to hang 
down in the vertical position.  

SuperPro 48" X 48"
 Ceiling Mounted Shelf

Item # 00180 white
Item # 00183 hammertone

Page 6 of 12



IMPORTANTE
Knape & Vogt demanda los más 
altos estándares de calidad en 

la elaboración de sus productos. 
Se inspecciona detalladamente 

cada pieza antes del envío. 
En caso de que surja algún 

problema, NO DEVUELVA EL 
ARTÍCULO A LA TIENDA.

Comuníquese con 
Knape & Vogt al:

1-800-253-1561 para obtener 
ayuda con cualquier problema 
o pregunta que pueda tener.

Gracias.



¿LE FALTA ALGUNA PIEZA?
No es necesario regresar
este artículo a la tienda.

Llámenos a nuestro
número gratuito:

1.800.253.1561  

Garantía limitada de la unidad Super Pro de 48" x 48" (122 cm x 122 cm) de HyLoft

Knape & Vogt garantiza este producto contra defectos en material o mano de obra por la vida del producto. El 
fabricante se compromete a reparar el producto o reemplazarlo, según el criterio exclusivo del fabricante. Esta garantía no 
incluye ninguno de los costos asociados con la instalación física de la unidad, su remoción o la devolución del estante HyLoft.

Esta garantía es válida, y puede hacerse efectiva, siempre que el peso máximo a que esté sujeta la unidad de 48" x 48" 
(122 cm x 122 cm ) de HyLoft no exceda un total de 300 libras (136 kg), distribuidas en la unidad en forma pareja. El 
cliente, el distribuidor o el instalador liberan a HyLoft, Inc. de todo reclamo, incluyendo la unidad de HyLoft y la 
estructura en la cual se ha instalado, si la carga impuesta sobre la unidad excede 300 libras (136 kg). Además, la 
unidad deberá instalarse de acuerdo con las instrucciones del fabricante. En ningún momento deberá instalarse más 
de una unidad HyLoft en dos de las vigas del techo (cabríos, montantes, viguetas del techo, armaduras del techo, 
etc.). Todos los sistemas de sujeción deberán revisarse y apretarse debidamente por lo menos una vez al año.

Únicamente el comprador original de este producto recibe esta garantía. No se realizará ningún trabajo de garantía bajo esta 
garantía si el comprador no presenta un recibo de la compra u otra prueba de la fecha de la compra original, aceptable para el 
fabricante.

Esta garantía limitada de Knape & Vogt cubre ÚNICAMENTE la falla del producto debida a defectos en 
materiales o mano de obra. No cubre daños de corrosión, oxidación o descoloramiento de sus componentes o falla del 
producto debido a uso indebido, abuso, instalación defectuosa, alteración, falta de cuidado razonable o cualquier otra falla que 
no sea debida a defectos en materiales o mano de obra.

NO existen otras garantías expresas o implícitas con excepción de las descritas aquí o aquellas exigidas por leyes aplicables.

KNAPE & VOGT NO SERÁ RESPONSABLE POR DAÑOS INCIDENTALES, ESPECIALES O INDIRECTOS QUE RESULTEN
DE USO DEL PRODUCTO O SURJAN COMO CONSECUENCIA DE CUALQUIER VIOLACIÓN DE ESTA GARANTÍA.
TODA GARANTÍA IMPLÍCITA, SI EXISTE, INCLUYENDO GARANTÍAS IMPLÍCITAS DE COMERCIABILIDAD Y SUFICIENCIA 
PARA UN FIN ESPECIFICO, ESTÁN LIMITADAS EN DURACIÓN A LA DURACIÓN DE ESTA GARANTÍA. Algunos estados  
no permiten la exclusión o limitación de daños indirectos o incidentales o limitaciones en cuanto a la duración de 
garantías implícitas, de manera que las exclusiones o limitaciones descritas arriba pueden no aplicarse en su caso. 
Ninguna otra garantía escrita o verbal tendrá validez para este producto. Esta garantía con�ere a usted derechos 
legales especí�cos y usted puede tener otros derechos que varían de un estado a otro.

Knape & Vogt no se responsabilizará por daños a la mercancía en tránsito. Los productos reparados o reemplazos estarán 
sujetos a los términos de esta garantía y a inspección por parte del fabricante antes de ser devueltos. Daños que pudieran 
ocurrir en tránsito deberán noti�carse inmediatamente a la compañía de transporte y el respectivo reclamo deberá  
presentarse a dicha compañía. 

Knape & Vogt®
Grand Rapids, MI 49505 USA

1.800.253.1561  

Para obtener más información, conocer más sobre accesorios y preguntas más frecuentes, visite nuestro sitio en Internet: 
www.Hyloft.com

Apreciamos su compra de su nuevo estante HyLoft. Knape & Vogt ha hecho todo esfuerzo para 
ofrecerle un producto de calidad que le asegure un servicio de por vida, libre de problemas. En caso de 

cualquier tipo de problema, y ANTES DE DEVOLVER LA UNIDAD AL VENDEDOR sírvase llamar a nuestro 
teléfono libre de cargo 1.800.253.1561.  

Page 7 of 12



Seguridad:

Lea y asegúrese de comprender la advertencia que se encuentra en su escalera de mano y 
cerciórese de que esté en buenas condiciones de funcionamiento.

Examine todas las herramientas necesarias para veri�car que están en buenas condiciones de 
funcionamiento, antes de comenzar.

Las herramientas eléctricas que no cuenten con conexión interna a tierra requerirán de cables de 
suministro de energía y extensiones con un enchufe a tierra.

Siempre utilice protección para sus ojos cuando perfore o instale piezas.
Los componentes de HyLoft están fabricados de metal, debe tener cuidado con los bordes a�lados y 
no permita que ningún componente esté en contacto con corriente eléctrica durante la instalación.

NO instale más de una unidad HyLoft sobre cualquiera de los dos miembros del marco.

Preparación:

La unidad HyLoft puede instalarse en cualquier área del garaje, siempre que se disponga del espacio 
adecuado. De ser posible, instálela de modo que sea posible tener acceso para la carga desde los 
cuatro lados.

Tenga cuidado de no bloquear el acceso al ático o a espacios de almacenamiento o a luces.

Si la altura del techo lo permite, también es posible instalar la unidad sobre la puerta abierta del 
garaje. Si la instala sobre una puerta abierta, mida la distancia entre el punto más alto de la puerta de 
apertura del garaje y el techo para determinar si se cuenta con espacio adecuado para la unidad. 
Necesitará al menos 63,5 cm (25 pulgadas) de espacio abierto entre el techo y el punto más alto de la 
puerta cuando abre.

Despeje el área en la que se instalará la unidad HyLoft y no deje los automóviles aparcados bajo la 
unidad durante su instalación.

Localice las líneas de gas, electricidad y fontanería del garaje antes de perforar los paneles de yeso.

NOTA: En las instrucciones, se hace referencia a los cabrios. También se los conoce como vigas de 
techo o miembros del marco.

Knape & Vogt®
Grand Rapids, MI 49505 USA

1.800.253.1561  

Para obtener más información, conocer más sobre accesorios y preguntas más frecuentes, visite 
nuestro sitio en Internet: 

www.Hyloft.com

Preparación e información sobre seguridad 

IMPORTANTE: LEA ATENTAMENTE LAS INSTRUCCIONES ANTES DE COMENZAR CON LA INSTALACIÓN

Page 8 of 12



INSTRUCCIONES DE INSTALACIÓN 

Piezas incluidas:

(24" x 48")
2 rejillas de alambre de 61 x 122 cm 4 varillas descendentes rectas4 ángulos de fijación

Escuadra
de

carpintero
(opcional)

LápizBroca de
taladro de

3/16" (5 mm)

Taladro
eléctrico Escalera o

tabureteCinta para medir

Protección para los ojos

Llave de
7/16" y 1/2"

(11 mm y 13 mm) 
Localizador 
de viguetas/

cabrios
(opcional)

Llave de
copa o llave

para tuerca de
7/16" (11 mm) y

1/2" (13 mm) 

Herramientas necesarias

IMPORTANTE: Lea todas las instrucciones antes de comenzar con la instalación.

O

36 pernos de cabeza hexagonal
de 5/16" X 1/2" (8 mm x 13 mm)

40 tuercas de seguridad hexagonales de
5/16" (8 mm)

M

2 varillas descendentes con pies, con
frente hacia la izquierda

2 varillas descendentes con pies, con frente
hacia la derecha

2 marcos de apoyo de 122 cm (48") (2 orificios)

2 marcos de apoyo de 122 cm (48") (6 orificios)

8 tornillos para madera de 5/16" X 2 1/2" (8 mm x 64 mm)

 4 abrazaderas 4 pernos de cabeza hexagonal de 5/16" x 2" (8 mm x 50 mm)

4 tuercas de seguridad hexagonales
serradas de 1/4" (5 mm)

M

Estantería montada al techo
SuperPro 48" x 48" (122 cm x 122 cm)

Artículo Nro. 00180 blanco
Artículo Nro. 00183 aluminio martillado

4 pernos de cabeza hexagonal de 1/4" x 1/2"
(6 mm x 13 mm)

Cabrios
con una separación

de 61 a 106,5 cm
(24" a 42")

Page 9 of 12



IMPORTANTE: LEA ATENTAMENTE LAS INSTRUCCIONES ANTES DE COMENZAR CON LA INSTALACIÓN
Ubique los cabrios del techo en el área donde desea instalar la unidad y determine en que dirección están orientados. Los 
ángulos de fijación (B) deberán instalarse paralelos a los cabrios del techo. Consulte el diagrama a continuación para mayor 

INSTALE LOS ÁNGULOS DE FIJACIÓN
AL TECHO

FIJE LAS VARILLAS
DESCENDENTES

Use las perforaciones centrales de los ángulos de fijación (B) como 
plantilla para marcar las perforaciones en el del cabrio. Utilice los 
cabrios con una separación de 61 a 106,5 cm (24" a 42").

Debe haber exactamente 127 cm (50") de centro a centro, medidos 
entre las perforaciones centrales de los Soportes (B) a lo largo del 
mismo cabrio. CONSEJO: Puede resultar más sencillo medir desde el 
exterior del primer soporte (B) hasta el interior del siguiente soporte 
(también a 127 cm o sea 50").

IMPORTANTE: Los soportes deben estar colocados 
perfectamente en línea y escuadra entre sí.

Perfore previamente orificios de  3/16" para cada tornillo. Frote una 
barra de jabón o agregue una gota de jabón líquido a las roscas de 
los tornillos para madera para facilitar la instalación. Use una llave de 
copas o una llave para tuerca, para instalar dos de los tornillos para 
madera de 5/16" x 2 1/2" en cada ángulo de fijación. No ajuste 
demasiado los tornillos. 

Determine la altura de suspensión y superponga y fije 2 varillas descendentes hacia la 
izquierda (D) y 2 varillas descendentes hacia la derecha (E) a cada varilla descendente 
recta (C) con 4 pernos hexagonales (l) y tuercas hexagonales (J). Ajuste con una llave de 
copa o llave para tuerca de 1/2".

Fije 4 varillas descendentes rectas (C) a cada ángulo de fijación (B) con 2 pernos 
hexagonales (l) y tuercas hexagonales (J). Ajuste con una llave de copa o llave para tuerca 
de 1/2". Asegúrese que un lateral de cada varilla descendente (C) mire hacia el interior, 
donde estarán las rejillas y que los pies sobre las varillas descendentes que miran hacia la 
izquierda y derecha (D y E) estén hacia adentro.

Consulte la última
página que presenta

alternativas de
instalaciones.

Cabrio de techo

1B

1A

1B

IMPORTANTE: No ajuste demasiado los tornillos para madera (máx. 10 pies por libra). Sólo es
necesario atornillarlos al nivel de la superficie, no más. No utilice un destornillador de impacto.

Ubique 2 cabrios
con una separación

de 61 a 106,5 cm
(24" a 42")

Los orificios centrales
de los ángulos

de fijación deben
estar separados

exactamente
por 127 cm (50")

Utilizando un localizador
de viguetas/cabrios,
ubique los cabrios

de 61 a 106,5 cm (24" a 42")
de separación

Page 10 of 12



M
M

Afloje e incline los marcos
de apoyo de 122 cm (48")
para que las rejillas descansen
directamente sobre el anaquel.

COLOQUE Y FIJE LAS
REJILLAS

 FIJE LOS MARCOS DE APOYO

Coloque dos marcos de apoyo de 122 cm (48") (F) en la parte superior de los pies y 
utilizando las Abrazaderas (K) con la parte gruesa hacia arriba, ajuste la varilla 
descendente con los pernos hexagonales (L) y tuercas (J). Asegúrese que los 
extremos de los marcos de apoyo (F) estén rectos y en escuadra. Coloque los marcos 
de apoyo de 122 cm (48") (G) sobre los marcos de apoyo de 122 cm (48") (F) y fije sin 
ajustar en cada esquina con pernos hexagonales de 1/4" (M) y tuercas (N) utilizando 
una llave de 7/16" o llave para tuercas. No ajustar hasta después de haber colocado 
las rejillas.

Apoye las 4 rejillas de alambre (A) en forma pareja sobre los marcos de apoyo de 122 cm (48") (G) con contrafuertes por debajo de la 
rejilla. Afloje e incline los marcos de apoyo de 122 cm (48") (G), de ser necesario. Ajuste los pernos en cada esquina de los marcos de 
apoyo utilizando pernos hexagonales de 1/4" (M) y tuercas(N) con una llave o llave para tuercas de 7/16". Ajuste las rejillas de alambre (A) 
como se ilustra utilizando 4 pernos hexagonales (l) y tuercas hexagonales (J) en cada rejilla.

Asegúrese de haber ajustado todos los pernos, tornillos y tuercas. No cargue más de 136 kg (300 Iibras), distribuidas en forma uniforme

Page 11 of 12



D

INSTALACIONES ALTERNATIVAS

Si se cambia la dirección de los cabrios, es posible instalar 2 o las 4 varillas descendentes (C y E) en el otro lateral de 
122 cm (48"). Gire la dirección de los ángulos de fijación (B) y varillas descendentes (C y E) e proceda como se indica 
en los pasos 1 a 3 de las instrucciones originales.

Cabrios multidireccionales:

Techos catedral o a dos aguas:

Ejemplo que ilustra un cabrio
multidireccional

Si todos los cabrios están paralelos,
también es posible instalar 2 varillas

descendentes en el otro lado de 122 cm (48")
girando la dirección de los ángulos de fijación (B)

como muestras las instrucciones originales,
pero instalando las varillas descendentes

como se ilustra aquí.
 

Cabrios angulados

Abrazadera (K)

Después de fijar el ángulo de fijación (B) a los 
cabrios (paso 1), instale la varilla descendente (C) 
en el ángulo de fijación (B). Dependiendo del 
ángulo de su techo, es posible que necesite cortar 
la esquina de la varilla descendente (C) para que 
cuelgue en posición vertical.

Estantería montada al techo
SuperPro 48" x 48" (122 cm x 122 cm)

Artículo Nro. 00180 blanco
Artículo Nro. 00183 aluminio martillado

Fije las varillas descendentes rectas (C) a 
cada ángulo de fijación (B) con 2 pernos 
hexagonales (l) y tuercas hexagonales (J). 
Ajuste con una llave de copa o llave para 
tuerca de 1/2".

Ajuste las varillas descendentes inferiores a distintas alturas, si 
fuera necesario, de modo que los marcos de apoyo (F y G) queden 
nivelados cuando se los instala. Proceda con los Pasos 3 y 4.

Page 12 of 12


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6



